ANNUAL EXAMINATION 2023-24
CLASS 5 ENGLISH MARKS 50
SECTION A READING
Read the given passage and answer the following questions
The Republic Day

India became a republic on January 26,1950.The Constitution of the country came into force on
this day. The power of government passed into the hands of the common people. All castes,
creeds and religions are to be equal in the eyes of the law. Every year, this day is celebrated all
over the country with great enthusiasm. The national flag is unfurled at all the public buildings.
A big function is held in Delhi. The President presides over this function. It is worth seeing. The
day is a national holiday.

Questions (1x5=5)

1.What happened on January 26,1950?

2.When did the Constitution of India come into force?

3.Who are to be equal in the eyes of the law?

4.How is the Republic Day celebrated?

5.Who presides over the function held in Delhi on the Republic Day?
SECTION B WRITING (5)

6) You are the captain of the Junior Cricket Team of your school. Write a letter to the principal
and request permission to participate in an inter- school cricket match.

SECTION C GRAMMAR (20)
Write the correct word(2)
7) beautiful / baeutiful / beautyful
8) arguement / argument / argumant
Write the correct form of the adjective given in the bracket (2)
9)Earth is the ----------- creation of God(beautiful)
10)The weather yesterday was ------- (bad) than it is today.
Use suitable conjunction (1)
11) We all laughed __ clapped our hands after the show.

12) Namrata cried she losts her purse.



Frame questions for which the underlined words are the answers. (2)
13) Rakesh is cleaning the car

14) Tina and Sameera are playing basketball in the playground.

Fill in the blanks with make / do(2)

15) Anju lovesto __ paper kites at home.

16) venkat likesto __ his own washing.

Write the correct adverbs to complete these sentences(2)
17)(twice/ always) bath before going to bed.

18) (ever/ sometimes ) we go for picnics to the park.

Fill in the blanks with For or Since(1)

19)  two hours.

20) _ 1989.

Fill in the blanks using much, any, all,many(4)

21) Maya spends her free time in the library.

22) There are apples in the box.
23) Do you have money?
24) 1 don’t have money?

Fill in the blanks with a, an, the(2)

25) _ beaches of Goa are very beautiful.
26) At last_ heirto ____ throne was born.
27) Would you like _ slice of cake?
Write the correct preposition (2)

28) To reach the Principal's office you should go ( up/ above) the stairs and then (from/along) the
corridor on the left.

29) The squirrel jumped (in / over) the wall and ( into/ at) the garden.
SECTION D LITERATURE (20)
Fill in the blanks(5)
30) The police everyone in the neighbourhood

(' questioned/ bag/ wallet)



31) Mei- Ling climbed the mountain.

(‘once/ twice/ thrice)

32) The brain receives information through the_ (skull/eyes/ nerves)
33) The king rewarded Tenali Raman for winning the challenge with his.
(artistic talent/ wit and wisdom /jokes)

34) The Hornbill Festival showcases the art and cultureof
India/ the north- eastern state of India/ Nagaland.

Write True or False

35) Krishnadevaraya was very impressed with the artist’s painting.

36) The speaker in the poem ‘ The first tooth "has a baby brother.

37) There are sixteen main tribes in Nagaland.

38)Tenali came to court with a totally blank canvas.

39) The Hornbill Festival celebrates the harvest season.

Answer these questions (2x5=10)

40) How does the Hornbill represent the Naga warrior tradition?
41)Why was Uncle Ken's visit to Lucknow memorable?

42)What reward did the king offer to Tenali Raman if he won the bet?
43) In what ways is our brain better than a computer?

44) Why did Raju think that the man he saw was the thief?
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1.CHOOSE THE CORRECT ANSWER

1.Plants and trees hold the soil together by their ------------ (roots/stems).

2.Fossils are found in ------- rocks. (sedimentary /metamorphic )

3.Thereis no-------- force in space. (buoyant/gravitational )

R absorbs the ultraviolet rays of the sun. ( Ozone/Argon)

5. The earths's atmosphere is a blanket of--------- (gases/wool). (5)
Il. WRITE TRUE OR FALSE

6.Methane is a green house gas.

7.Earthquakes are measured on the Richter Scale.

8.The closest neighbour of the earth is Jupiter.

9. Heavy rain causes flood.

10.Tides are caused in the oceans due to the shadow of the moon. (5)

lll. MATCH THE FOLLOWING

11.Atmosphere - KALPANA-1
12.Chlorination -ability to do work
13.Energy - adding chlorine.

14.Water vapour -thick blanket of air.

15.Artificial Satellite -35 —75% (5)
IV. FILLIN THE BLANKS

16. Deforestation means---------- .

17.Moon is a lonely and silent place because It does not have ------------ .

18.Strong wind accompanied with very heavy rains called-------

19. CFC's are widely used in --------- .

20.--------- is the purest form of water. (5)



V. CHOOSE THE ODD ONE
21.
a)Earthquake /flood/road accident /tsunami
b)Methane/oxygen /carbon dioxide /ozone
c)Troposphere /stratosphere /space/thermosphere
d)afforestation /cover crops/deforestation /embankments.
d) Aryabhata /Rohini/Moon/Bhaskara 1 (5)
VI. NAME THE FOLLOWING
26. a) Sorrow of China.
b)Those who study earthquakes are
¢)The most readily available source of energy
d)Name the first man who landed on the moon.
e)The traces of ancient plants and animals found in rocks are called (5)
Vil. WORD WEB

27. a, Paraffin Wax

(3)

VIIl. WRITE SHORT ANSWERS
28. a) Why should drinking water be purified?

b) What do you mean by pollution?



c) What is tsunami?

d) Why does the moon shine?

e) What are simple machines? (10)
LONG ANSWER

a) What are artificial Satellites? How are these satellites useful to mankind? (3)
b) Draw and explain how is solar Eclipse caused? (4)
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STD V SOCIAL SCIENCE MARK 50
| CHOOSE THE CORRECT ANSWERS(10)
1) The capital of Greenland?
(a)Kalaallit Nunaat (b)Nuuk (c) Sisimiut)
2)The Demaocratic Republic of the Congo is situated by how many countries?
(@) four (b) Ten( b) Nine)
3)The second largest river in Africa is the..
(@)River Congo (b)River Niger (c)River Nile)
4) The largest island in the world is...
a)Australia (b)Greenland (c)Srilanka )
5) In French, Grasslands are called..
(a)Steppes (b)Velds (c)Prairies )
6) The United Nations formed after the..
(@) First war of Independence (b) First World War (c)Second World War.)
7) The two Rivers that flow through the prairies are the Mississippi and the..
(a) Ganga (b)Niger ( c) Missouri )
8) The Law making body in our country is called the..
(a) National Assembly (b) Parliament
© Congress
9)The judges of the Supreme Court are appointed by the..
(@) President (b) Speaker (c)Prime minister)
10) The Prairies lie between
(a)Canada and Alaska (b)India and Pakistan (c)Canada and Mexic)
FILL IN THE BLANKS(5)
1) A breed of dog that pull sledges in
Greenland ------

2)An important latitude that passes



Through Greenland -----

3)The region that lies between the Tropic of Cancer and the Tropic of Capricorn is called
the ---region

4)The Capital of Saudi Arabia ----
5)In the Prairies most farm work is
Done by ----

111 DEFINE THE FOLLOWING (7.5)
1) Charter 2)Silos 3)Wadi
4)Harpoon 5)Nominate

I VNAME THE FOLLOWING(7.5)

1) Two Temperate Grass lands.
2) Expansion of UNESCO.
3)Main Organs of U NO.
4)Seaport of Saudi Arabia.

5) Expansion of WHO.

IV ANSWER THE FOLLOWING. (15)
1) What are the achievement of UNO?
2)Write Short note on igloos?
3)In what ways has the discovery of
Petroleum helped the people of the
Country?

4) Why are the prairies called the
“Wheat Basket of the World”?
5) Explain the main agencies of UNO?

V Essay.(5)

1) Write three difference between

Loka sabha and Rajya sabha?



Std:Vv ANNUAL EXAMINATION 2022-23

INFORMATION TECHNOLOGY
I. Choose the correct answer from the brackets.
1. B5is @ -------------mmemmoeee-
(Row number, Cell reference, Column Number)
2. Which tab is used to create a slide master?
(View tab, Insert tab, Design tab)
3. How many stop boxes should a flowchart have?
(Two, One, Three)
4. Workbooks are saved with an extension.
(.XSLX, .XSXL, .XLSX
5. Where is the selected Clip Art inserted on a slide by default.
( Right, Left, Center)
I1. Fill in the blanks.
6. By default, there are ----------- worksheets in Excel.
7. Atheme can be applied using the -------------------- :
8. A-m-mmme - bar is located at the top of the window.

9. The user name is --------------- to the individual sending or receiving emails.

10. Each row in Excel is identified by a --------------- :
I11. Match the followings.

11. Workbook - Series

12. Worksheet - Number

13. Auto fill - Letter

14. Row - Notebook

15. Column - Page of a notebook

IV. Write true or false.

16. A flowchart can have only one stop box.

17. The active cell has a green outline.

18. The insert tab is used to insert bullet and numbers.

19. Vertical alignment is four types.

20 The formula bar is displays the name of the active cell.

V. Rearrange the letters to write the correct word.

21. DLISE

22. ASMRET

23. LIPC RTA

24. SUJFITY

25. MOHE ATB

26. WIEV BAT

VI. Name the followings.

27. The option used to fill a series of data in the adjacent cells.

28. The key is used to move to the next cell below the active cell.
29. The box that displays the name of the active cell.

VII Guess Who | am.

30. I am a symbol that separates two parts of an email address.

31. I am a key that helps to move to an adjacent cell in an Excel sheet.
32. 1 am a collection of slides arranged in a particular order.

33. I am a shortcut key to run a slide show.

34. 1 am a default view of power point that shows one slide at a time.
VII1. Answer the followings.

35. What are spreadsheet? Write their uses?

36. What is flow chart? Write any three flowchart symbols and uses?

Marks:50

()

(5)

(5)

(5)

(5)

(3)

(5)

(4X3=12)

37. How do you start MS Power Point? Name the different types of slide views in power point?

39. Define E-mail ? Write any two advantages of an Email?
40. Draw a flowchart to calculate the sum of two numbers?

()
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Class V MATHEMATICS Marks 50
I. Choose the correct answer (1x5=5)
1. Extra money earned from the bank or returned to the bank is called..............
( amount , principal, interest)
2.At airport and railway station ,the ............ is used.
(12- hour clock, 24- hour clock , sand clock )
3.Amount of space inside a solid is called.........
(area, volume, perimeter )
4. ... are tiling patterns with no gap in between the tiles. ( tessellation, tiling, symmetry
5.105° is a supplement of ............. (75°, 15°, 65°)
Il. Match the following. (1x5=5)
1. Obtuse angle sum equal 90°
2. Straight angle less than 90°
3. Rightangle 180°
4. Acute angle between90°&180°
5. Complementary angle 90°
lll. Complete the patterns. (1x5=5)
1. ... Jeeerepenenees ,47,57,67,77
2. 3,579 ey ,
3. 18,16,14,....,.....,.
4, .. s R , 98,87,76
5 .. Jeeernen R , 36, 33, 30.
IV. Complete the table. (2x5=10)
Length Breadth Perimeter Area
1. 25m 10m
2. 15m 12m
3. 100 cm 80cm
4, 10cm 6cm
5. 12cm 10 cm.
V. Find the value of each for a= 2, b=5, c=6. (1x5=5)
1. atb+c=..........
2. 3ctd=..........
3. 2a+5b-=.....
4. 20 b=
5. 2b-4da=...........




VI. Find the volume of cuboids (1x3=3)
1. 1=18cm  b=10cm h=6cm
2. [=22cm b=18 cm h=8cm
3. I=15cm b=12cm h=10cm
VII. Find the volume of cubes. (1x2=2)
1. Side=6cm
2. Side=12cm
VIIl. The number of people who used the Metro at different times on a particular day is
listed below . Draw a bar graph to represent the data . Take a scale of

1 unit = 100 passengers. (5)

Time 6.a.m. 9.a.m. 12 noon 3.p.m. 6.p.m.
Number of 250 500 450 350 600
passe
ngers

IX. Solve these word sums (2x3=6)

1. Vivek scored 24 of 30 in a weekly test. Find his percentage of marks.

2. The weight of one bag of rice is 5 kg. Find the weight of 16 such bags of rice.

3. A mobile phone was bought for Rs 4200 and sold for Rs3500. Find the loss and loss%.
X. Draw aline segment AB =6 cm , At A ,draw <CAB= 115°(2)

XI. Draw three concentric circles with radii 3.5cm, 4.5 cm and 5.5cm. (2)



